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General Instructions :
The question paper comprises of two sections, A and B, you are to attempt both the sections.
All questions are compulsory.
There is no overall choice. However, internal choice has been provided in all the three questions
of five mark category. Only one option in such question is to be attempted.
All questions of section A and all questions of section B are to be attempted separately.
Question numbers 1 to 4 in section A are one mark questions. These are to be answered in
one word or one sentence.
Question numbers 5 to 13 are two mark questions, to be answered in about 30 words.
Question numbers 14 to 22 are three mark questions, to be answered in about 50 words.
Question numbers 23 to 25 are five mark questions, to be answered in about 70 words.
Question numbers 26 to 41 in section B are multiple choice questions based on practical
skills. Each question is a one mark question. You are to choose one most appropriate response
out of the four provided to you.
An additional 15 minutes time has been allotted to read this question paper only. Candidates
will not write any answer on the answer sheet during this time interval.
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10.

11.

12.

13.

SECTION - A

In the formation of spectrum of white light by a prism, which component deviates the
(i) least, (ii) most ?

Phytoplanktons - Zooplanktons - fish - fish-eating bird.
In the above food chain, which of the organisms will have

(i) Maximum available energy ?

(i) Maximum concentration of pesticides ?

Draw the structure of ethene molecule (C,H,)

What is coliform ?

State modern periodic law. Justify the position of hydrogen in the periodic table.
Leaves of Bryophyllum fallen on the ground produce new plants. Why ?

State the significance of human testis being located in the scrotum ?

A convex lens of focal length 10 cm is placed at a distance of 12 cm from a wall.
Calculate the distance from the lens where an object be placed so as to form its distinct
real image on the wall.

The position of three elements A, B and C in the periodic table are shown below :

Group 16 | Group 17

- A

B C

State whether A is a metal or non - metal.

js5)

o
~— ~—

State whether C is more reactive or less reactive than A.
Will C be larger or smaller in size than B ?
Which type of ion, cation or anion, will be formed by element A ?

A/(?/‘\/‘\
&\.f

What harm has been caused to alpine meadows since nomadic shepherds have stopped
from grazing their cattle in such meadows ?

A person suffering from short - sightedness can see clearly only upto a distance of
2 metres. Find the nature and power of the lens required to correct his vision.

We should use coal and petroleum judicioushy. Why ? State any four reasons.

(@) Why does the sky appear dark instead of blue to an astronaut ?

(b) What happens to image distance in human eye when an object moves away from
the eye ?
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14.

15.

16.

17.

18.

19.

20.

21.

22,

23.

An object 2 cm high is placed at a distance of 16 cm from a concave mirror which
produces a real image 3 cm high. Find

(i) image distance and
(ii) focal length of the mirror.

a) What is meant by ‘Power’ of a lens ?
b) State its unit and define it.
c)  Which of the two lenses has a greater power :
(i) aconvex lens of focal length 5 cm ?
(ii) a convex lens of focal length 50 cm ?
Justify your answer.

(
(
(

Draw labelled ray diagrams to illustrate
(i) the defect of vision called ‘hypermetropia” and
(ii) for its correction using an appropriate lens.

What are soaps ? Explain the mechanism of the cleansing action of soaps.

(@) Atomic number is considered to be a more appropriate parameter than atomic
mass for classification of elements in a periodic table. Why ?

(b) How does atomic size of elements vary on moving from :
(i)  left to right in a period ?
(ii) top to bottom in a group ?
Give reasons for your answers.

(@) How do the oral pills function as contraceptives ?
(b)  The use of these pills may be harmful. Why ?

If a pure tall pea plant is crossed with a pure dwarf plant, then in the first generation
only tall plants appear.

(@) What happens to the traits of the dwarf plant ?
(b) In the second generation, the dwarf trait reappears. Why ?

(@) “Recent fossils are found closer to the earth’s surface.” Comment on the statement
stating reason.

(b) List two factors which could lead to the rise of new species.

(i) Name the type of sex chromosome present in human male and human female.

(i) With the help of a flow chart determine genetically in human beings the sex of
the offspring if a sperm carrying X - chromosome fertilises the egg ?

(a) Name the kind of lens that can form :
(i) an inverted magnified image.
(ii) an erect diminished image.
Draw ray diagrams to illustrate your answer in each case.

(b) Draw a ray diagram to show the image formed of an object placed between f
and 2f distances from a convex lens.

OR

086/X/SA2/23/A1 3



(a) Why do car manufactures prefer to fix convex mirrors as rear - view mirrors in
cars ? State two reasons.

(b) Draw a ray diagram to show the formation of image of an object placed between
the pole and focus of a concave mirror.

(c) State two uses of concave mirrors

24. (a) Complete the following reactions and name the main product formed in each
case.

. idified
() CHiCH,OH + 2[0] M-~ ~
(i) CH,COOH + NaHCO, -,

(iii) CH,COOC,H; + NaOH _,

(b)  Write the name of the following compounds.

H H O H H O H H
[ N o | |

(i) H—Cl—Cli—C—Cli—H (i) H—(li—C—O—(IZ—(li—H
H H H H H H

State the functional group present in each compound.
OR
)  What is denatured alcohol ?
(b) What is hydrogenation ? State its industrial application.
c¢) Define isomerism.

d) How many covalent bonds does a molecule of ethane C,H, have ? Draw its
structure to justify your answer.

25. Whatis placenta ? Describe its structure. State its functions in case of pregnant human
female.

OR

(@) Draw the diagram of a flower to show its male and female reproductive parts.
Label the following parts in it :

(i) Ovary (i) Anther  (iii) Filament (iv) Stigma

(b) How does fusion of male and female gametes takes place in plants ?
SECTION B

26. Salman has to perform the experiment of finding the focal length of a given concave
mirror by using a distant object. Which of the following ‘set ups” will he choose apart
from the mirror and screen provided ?

(a) a mirror holder, and a scale.
(b) a mirror holder, a screen holder and a scale.
(c) a screen holder and a scale.

(d) a mirror holder and a screen holder.
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27. A sharp image of a distant object is obtained on a screen by using a convex lens. In
order to determine the focal length of the lens, one needs to measure the distance between
the

(a) lens and the object.
(b) lens and the screen
(c) object and the screen

(d) lens and the screen and also object and the screen.

28. In an experiment to determine the focal length of a convex lens Amita obtained a sharp
inverted image of a distant light house on the screen behind the lens. She then removed
the screen and looked through the lens in the direction of the light house. Amita will
now observe :

(a) no image as the screen has been removed.
(b) an erect image of the light house on the lens.
(c) aninverted image of the light house at the focus of the lens.

(d) a blurred image of the light house on the wall of the laboratory.

29. While performing the experiment on tracing the path of a ray of light passing through
a glass slab as shown in the given diagram, four students interpreted the results as
given below. Which one of the four interpretations is correct ?

(a) Oi> Oe > Or

(b) Oi> Or > Ue

() 0i = Ue < Or

(d) 0i = UOe > Or
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30. Which one of the following is the best set up for tracing the path of ray of light through 1
a rectangular glass slab ?

) (d)
31. Out of the following four pairs of metallic salts, the pair of salts whose each salt forms 1
coloured solution when dissolved separately in two beakers containing water is
(@) CuSO, ; ZnSO, (b) FeSO, ; ZnSO,
(c) FeSO, ; CuSO, (d) CuSO, ; Aly(SO,),
32. In which test tube a student would observe effervescence on pouring acetic acid as 1

shown in the following diagram.

N ﬁic N ﬁcetic \ & &

) Acetic Acetic

Acid Acid Acid Acid
1 NaCl > NaOH Na,S0, Na,CO,
i}  solution i solution

33. A student is asked to add a teaspoonfull of solid sodium bicarbonate to a test tube 1

containing approximately 3 mL of acetic acid. He observed that the solid sodium
bicarbonate :

(a) floats on the surface of acetic acid.

(b) remains suspended in the acetic acid.

(c) settles down in the test tube.

(d) reacts with acetic acid and a clear solution is obtained.
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34. Zinc granules are placed in each of the four solutions A, B, C and D as shown. Gradual
fade in Colour would be observed in :

A B C D

& &

Aluminium Zinc Copper Ferrous
sulphate sulphate sulphate sulphate
solution solution solution solution

(@) AandB (b) Cand D () AandC (d Band D

35. Mohan added 5 mL of dilute ethanoic acid to 10 mL of water contained in a test tube.
After shaking the mixture he observed that :

(a) a clear solution was formed.
(b) a white precipitate appeared in the test tube.
(c) ethanoic acid formed a separate layer at the bottom of the test tube.

(d) acolourless gas evolved.

36. In which of the following, binary fission is observed ?

37. A slide showing several Amoeba was given to a student and was asked to focus the
Amoeba undergoing binary fission. What will be the student look for to correctly focus
on a dividing Amoeba ?

(a) An Amoeba with many pseudopodia and a small nucleus.
(b) A rounded Amoeba with rounded nucleus.
()  An Amoeba covered by a cyst and many nuclei.

(d) An Amoeba with elongated nucleus and a constriction in the middle.

086/X/SA2/23/A1 7



38.

39.

40.

41.

C
& i

In the figure of budding in Yeast given above, structures A, B, C and D should be
labelled respectively as :

(a) nucleus of bud, bud, yeast, nucleus

(b) dividing nucleus of bud, bud, yeast, nucleus

(c) nucleus of bud, bud, yeast, dividing nucleus of yeast
(d) dividing nucleus of yeast, yeast, bud, nucleus of bud

The initial weight of raisins given to Anshuman is 5 g. After sometime, when he
performed the experiment he found that the final weight of raisins is 6 g. The percentage
of water absorbed by the raisins is :

6g—5¢g 6g—5¢g
—2 9 x 100 b —©2___—9 x 100
(a) 6g (b) 5g
6g+5b5¢g 6g+5¢g
(©) T X 100 (d) T X 100

A student soaked 5 g of raisins in beaker (A) containing 25 mL of ice chilled water and
another 5 g of raisins in beaker (B) containing 25 mL of tap water at room temperature.
After one hour the student observed that :

(a) Water absorbed by raisins in beaker (A) was more than that absorbed by raisins
of beaker (B).

(b) Water absorbed by raisins in beaker (B) was more than that absorbed by raisins of
beaker (A).

() The amount of water absorbed by the raisins of both the beaker (A) and (B) was
equal.

(d) No water was absorbed by raisins in either of the beaker (A) and (B).

A student soaked 5 raisins each of equal weight in three beakers A, B and C each
containing 100 mL of distilled water and left them at room temperature. After 10
minutes he removed the raisins from beaker A, after 20 minutes from beaker B and
after one hour from beaker C. He calculated the percentage absorption of water in
each case. If P,, Pg and P denote percent absorption, then out of the following
representations the correct one according to his observation is :

(@) Py =Pg=Pc (b) P,< P <P
(c) Pp>Pg<P- (d) P, <Pg>P-
-00o0-
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1. 3 YTl o Saed & i § fora a1 % for fomrem (i) =aw (i) 2ifereham, S ® 2

2.  URUWHd _, UOwiEs , Ao -, HRRI vaft
e @ Wl § i | Sial | e
()  Sihan U Sl
(i) HreHREl St SAfeshan Frsdl
3. WY 7] (C,H,) =l HTEHT M)
4. ‘opiferoRrd’ A ?
5. oMygfTer aTet fom fafaw| stert wroft § segem i feafd o sifaw famfed wifse
6. SR st SHH R g8 afaal 9 T 9 Saael & 9 &1 34 ?

7. G g & IO R H ST B 1 Hewd Sasy |

8. 10 cm TRIHH T 1 Tk 3T oI Teh AR H 12 e T W W@ 21 A1 F fohat gt w ot
] Sl TEAT =T Toh 3HR1 o g T ardfaeh fdfod SR R o, IReher hif |

9. i awi A, BUS C i e ron § feefq i< <9riE T ©

116 T 17
A
B C
(a) T R A oTg T A1 37eq 2

)
(b) FaET fF A i gorm | C A A & a1 %9
(c) C M HB Y ISl § A BT ?

(d) T A Y HE A I, A LS FHMIA ?

10. & Y GHECEE =A@ = 39 HAfIE bl Jadia =mel § =)0 o< fohan § 9 S99 37 <Rl
I FAT B EE § 2

11. f7ohe gfedm & TR T =Afod e 2 m g0 T it Sl 1 & T <8 Fehal § 1 STH! gfe
& HeleH & o stevass o= o6t geRfa STk wifed A st

086/X/SA2/23/A1 9



12.

13.

14.

15.

16.

17.

18.

19.

3 F IR USIfeem 1 T fadehgas & T w1 AT ? 36K Tl hig 9’ SR
ERIE

(a) STIReT H STARETAT 1 AR el 7 Tt el Hi fe@rE <t € 2

(b) T &H foRel oRq I @ ¥ WA S & @ @ o 58 o1 gfafers g W = 99
TSR ?

el fRgit 2 em S S T T A U F 16 cm T T TR @1 @I E A TG TH0 R
3 cm ST AT e ST ¢ |

() v & wfafa =t g8,
(i) <7 I IR T T HifeT

(a) T i &HAT § 1 A B ?
(b) TTH T HT AM FARY AR IH qRefya wifsm
() = feu < o=l # foreeht e eiferes ®
() 5 cm HIHE T FH ITA qH
(i) 50 cm HIRY T HT ITAA T
3T I & AL | Toh i |

fr=fafea = fefua =3 & fau Tmifed foor 2 mE sAET

() T3 < i
(i) SUYH I F ITAN GRI SHHT ML |

IeA 1 &I & 7 WIS hi YaTe foha b sk HEEy |

(a)  3TTerd EROf H T SSHEH Y STUE YLHTY] HEAT Sl dwall o iRl & faw sifeen
ST YT AT S &, 3 2

(b) TSl S ITATY] SATHTY SHi SICeld & Sfel B
() Tt ommad # 9T | Qfe SR = €2
(i) T ot § SR G e = €2

3T IR ok FHLH H, Toh ST

(a) T Tt it e ek it oifa Y e et €2
(b) T THI Toh 57 Tl 1 YA TR &l Fehdl &, il 2
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20.

21.

22.

23.

24.

I T Y T FhER o T o e 1 ool Tah I A fohed o 919 o wne fopan e
TEelt Wel § heet ot fehe o e € 3o 2 €

(a)

S fohem o e o GI&TOT R g 2
TEd i § S fhe & T % oteron fRR | wehe @ 9 €, /i 2

3TUEITHA T STTaTed g3 & Fehe TC Sd €1’ 39 %A R G F9q feomft wifsw )
T = <1 Rl 1 Soord HIT S Joaal & e T HROT o & |

e T SR AR # faemm fan-7o I & yeri o 9 fafew |
T Jare- o &t el § AHal | SAIaRehdl 1 foaR 9 W@d ge et fe afe
3TUE Y X - URLH Jad Ih1Y] 511 8= &1 1 wafd o fe s/ grm 2

T % 3G YR 1 M sy forEe gry fHfHa g @

() 3, sTatda gfdfas,

(i) e, Srer gfafars

T G0l & AU 2794 ST I fH0r 3T IR T ShifIu |

IqA U &k WEA SR 2f U F 9 W A% A gidafors a9 Yefia & & fag
et TR sAET |

3

IS T HRUT A g s foh SR Fofar wri § vveaeett gdo & faw saa <do & 6
aar =i < ¥ |

TRl STardel U1 o WA Tishd T Yd o o= TE % ol Uit o T o forg
forton eT@ SR

Tade U o hig o SUA fafay |

Frefafea stfafsransti 61 90 *ifve iR 379 9 J&is | 991 aed J& SR &l AW
fafaw)

() CH,CH,OH + 2[O] DJJE@ZESE .

(i) CH;COOH + NaHCO, -
(i) CH;COOC,Hs + NaOH -

fr=fafaa it & T4 fafem)
H H O H H O H H
g Bl bl mdlosid
H H H H H H

T AT H Iufeerd Afucieshia wvg &1 M fafew |

S PEN
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25.

26.

27.

28.

~

foehfehd Teehigel 3 Bt @ 2

BIESISIHIhTYT 31 BT § 7 S5k SiTeifiTeh STIwanT Jaisy |

c) FHEIEdl i IR hife |

(d) 39 C,H, % Tk 10 H fohia Teddsh ey d €1 379 S o H $6eht Ha
ifgu |

T (3TT) TR ? THh! T Bl 0 it | et St H SHeh Yo bl ==l Shifold |
3t

(a) T % R Td HIGI IS 3171 I S o A€ T @ 5| 39 99 W fH=fataa
3TeFEl o A SAfehd ST : STUSRAE, TN, =], AR |

(b) el H TR T AT grHE T Herad Y YR 2 € 2

Qug - o

M i Teh G T o1 ITRT Hleh fQU T 31aael YU ohi Whishd T 1A B ST TN
FHE 7| T e g 3R 9 % stfafiad s§ frefafea 8§ @ o= o) fhm wrmft 6t smavasa
B ?

(a) T TUU YR, IR TH “had

(b) TH TUU U, Th U& €W 3R Th Whel

(c) TSl 9N T Th hd

(d) TH SUU YN q1 TH Ua1 9N

T 3T W I STANT e Toh L T I T Yfdferesl I O S0 T § | <+ ol ke
T I L ok foTT gATeRal bl g4 Ao S

(a) T 3R a% & o HI
(b) T AR TS & A= H
() & IR 9 & o= H
(d) < 3R 9 & ST Hi IR TG T IS i o ht o |

fordl 3T <=0 1 HiRd T T KT ok Tk FANT H ST 7 Tk S8 SIO&ey ol T
yidfersl o9 & T W Tk I8 W o | TR S8 vt g1 faan iR o 9 2o SIoeawsy i
<@ Afar ferd o o

(a) TS wfdfers =&, Riifer val ger foan T 2|

(b)  SroEars 1 EHen Ffdfora o % Hhd T S B |

(c) Ia%ary o1 3eel fafer = o PIRH T ol ¢ |

() I H TH e Yidafors FHARTe it SR W S €
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29. T AR hid & T2 H W BT FohT¥T Tohur T 9 TG e & TNt H foa 7 e
T gol | =R foranferi 3 i fou T ogaR frepf 6t samen 1 | 31 IR § | S 9 men
e ?

) Ui>Ue > Or
(b) Oi>0Or > Ue
(c) 0i = Ue < Or
(d) 0i = Ue > 0Or

30. TH AR i & Teh H H BT Tt Fror 1 7o 9o STifEd oA & 7 &% fau
frfafea § =m 9 sewen gaifus o 82

-

©) (d)

31. = fu U =R =i dau o Sel | 9 fhe Te0-Sie o aavll ol STeRT ST diehdl | @
STe | et W QM1 o WA o g 2 2
(a) CuSO, ; ZnSO, (b) FeSO, ; ZnSO,
(c) FeSO, ; CuSO, (d) CuSO, ; Aly(SO )4
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32. = fou g fom # <wit S1aR wR wEAferEl § ufdfes st e W fha et o fammedt

! gRgerRe fa@m < ?
3T A 3T 3TA Sih|

33. fordt famnelf 9 et 71 o o8 U el § o amer 3 mL wfafee o1 o, T o= R
39 Gifeaq dEdhEHe Sl | 369 <@ foh 39 Hifean-amgahEie :

(a) Tfafes 3T & FW T B

(b) ufafesw st # feifoa Tear 7

(c) TRGECH i qelt | 93 W T

() Tfdfes o1 | fohan oea € 3R T e faeras o 2 8

34, T ¥ <U T{OR =R fae@ i A, B, C T D H 9 & |, fSieh & Iohe 1t U 54 foeremi
1 47 -4 38 UM g ®

A B C D

Tqfafem qethe Si& aethe IR TEhe T HEhe
IESEE] IEKEE] IENEE] IENEE

(a) ATIB () CWID () ATIC (d BWD

35. IR A Tk WEat H§ W 10 mL 5 H 5 mL T THigh o7 faeman | fago o1 o =81 a@
fee™ o &g 39 I T -

(a) Teh T foera o a1 o)

(b) TH TS AT TG H TR T T o1 |

(c) TAIEh T + el o dl H Teh Tl Wd o1 ot off |
() TF TEE g s B ¥
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36. frefafaa & foead fg-w=a Afem frar ST &2

37. ol faenefl =t wige & T foey =g erien <uiw U 9 X SEY e T R 9w =Y
e W Wiehy Y foud fg-weT & w1 an1 foedt favremsie sren W 98l wiehdd & fau
Ig Toremeft s qetmsr wam ?

(a) T TE orvien e e aIeI 2 SR Uk Brer i & |

(b) W Tl TN fept Afyes off Mt = |

(c) T UHN THia i Tk & okl &1 IR fored g Afyren 2 |

(d) T UG eyeiten forereht ifaes ot & iR fesh e | G A

38.
A

B
c

&L 5

IR feu T e (WHR) % gFe & o | fo@E T G A, B, C WE D %AW §:
(a) HES 1 A, Hped, WHR, YR

(b) HFPA 1 fawrsHeiial Tifyes, gohd, HR, v

(c) HEA oK1 Y, Hpel, GHR, GHR k1 Taursrsier ifies

(d) @HR = a9 A1f4eh, WHRY, Hpel T Hepel <l A9h

39. STYHA I < T TRl o YRS g 5 g §1 we S TERT TR o O W $9 W) T
TG o A% ST I foh 3k Sfam S 6 g B T 7 | foRwifiRil gT STeRifa STt st wiowra

e
6g—5¢g 6g—5¢g
6g+bog 6g+bg

(©) T x 100 ) T X 100
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40. T faeneff 75 g formther die (A) § Fie f59H 25 mL 9% S =gd S foran gotl it o
T 317 5 g Tomwfiret sftent (B) ® Pl 16 25 mL e o1 STel A o a9 T 1| Teh = 915
59 fommeff 7 arn o
(a) Torurfiren 3 sffert (A) H sftort (B) =t 37U 31f¥eh SToT srernfed foran |

(b) TorerfeTi 3 SRt (B) H STeRY (A) Tl 3TU&T S1f¥ek STat sTerenfed foram |

(c) ST (A) T TRt (B) 1 H & foRsifaetl g0 STerNfia STel shi Ao §HM off |

(d) (A) W& (B) TH H ¥ forelt off Sitene o ferutiaeti 3 a1 stawiifa =&t foran |

41. U foeneff 3 @9 i A, BTE C H ¥ Y% | 100 mL TG Sicl A o a9 I fean o
ITH & Y3 H THE goA9H it Uig-ure feufast g ik @ fean sua 10 faee s shiew
A ¥, 20 fHe 91 et B § 3R T He a8 sl C Toharfimi feprelt ofR 37 g1 staenfim
el el FiaRTd AN ol GReher fohall | TS STeRITo Sfel ohl € Hiasid | hHl: Py, Py T P
B 1 39 Y&l o ATER fr=fafed 8 9 & a1 freuo we ©

(a) P, = Pg = P¢ (b) P, < Pg<Pc
(c) P, >Pp <Pc (d) P, <Pp>Pc
-00o0-
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